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Установите соответствие между репликами-стимулами 1–4 и ответными ре-
пликами A–E. Выберите один из предложенных вариантов ответа. Одна реплика
(А–E) является лишней.
 
 

1  — We intend to arrange everything in time.
2  — I hesitate to accept your offer.
3  — The problem is far too difficult to be solved here and now.
4  — I can‟t make up my mind whether we should go there.

 

A  — Don‟t. You won‟t regret it.
B  — That‟s too bad.
C  — Let‟s hope so.
D  — I am in two minds myself.
E  — It serves you right.
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